MFM2P -QUADRATIC EXPRESSIONS UNIT 4 — DAY 2 - NOTE DATE:

MULTIPLYING BINOMIALS - FOIL (X + (x |

\2.)

First some terminology...

A POLYNOMIAL is an _Glacocaie 0 x0(esSioN  madeup of _one or onore,

\

terms separated by __ add i mon or Subtrach on
» X
Examples: SR & B =)
Hx -
. _ v . —
A MONOMIALisa __ PO\ rnom Lol with o~e  term Ex - 2«
A BINOMIAL is a Co\yrnoemia L with __ tnio terms Ex - 2% t 2%
A TRINOMIAL is a Po\Yin senial with _¥\hyree terms Ex - 2« ¥ Xy~
EXERCISE: Identify each polynomial expression as a monomial, binomial, or trinomial.
Polynomial Expression Monomial, Binomial, or Trinomial???
x2 + 5x er\gr\r\\u\
7 Moonomia
45p2q— ]5q3 B, No ML
2x2 + 8x — 4 Timarnisl
ab3c Wlon o oL
-2X—4X2 /?)\('\‘:J(‘r\', CJ\-

How to Multiply Binomials —the FOIL Method

F: Multiply the _Tics5 L terms in each bracket together
_ , This is very
O: Multiply the _ Ouls . cle terms in each bracket together similar to the
I:  Multiply the __lns.de terms in each bracket together | Distributive Property
T (Rainbow Method)
L: Multiply the ~O St terms in each bracket together apphied Fwics
Example 1
Step 1: Use FOIL
/;\\ b /%\-\
a) (x+2)(x+3) b) (2x — 4) (x + 6)
= T x =t v Y
Step 2: Collect Like Terms and Simplify = (2000 + (2x)]k) * CHIK) + (X
= Oa) + (03 (GO + (23D = Ax®4 12x ~Hx -2
= xTx Zxa2x 4l R = A" % Ry~ 24

F

A

= K * Txgla & Colleet | il 4Rrwss



MFM2P -QUADRATIC EXPRESSIONS UNIT 4 - DAY 2 - NOTE ; DATE:
e .

Example 2 (3x —@25 5)

. (@
= (2O (3xAD) + D2 + (~2(S)

- o MULTIPLYING
bx™ + 1Sy - 1Ly — O BINOMIALS
. a2 B Step 1: Use FOIL
Lbx *1lly —10 (First, Outside,
Inside, Last)
N\ Step 2: Collect Like Terms
Example3 (m-15)(m + 5) @ and Simplify
T ¢ (Y s) + S 4 (-sXs) o
- W\;L+ DN~ =25
R ST
= M KA - S
= M- 23
Example 4 (?}E/Q_:‘ mMmultiply Same loroicket + wice
= la-ha-d)
= LaXa) + (@X-3) + -3Xa) + (-3X-3)
= a”r - Ba —da +9
@ "
2 & —bo +9
Application Example
A swimming pool has dimensions L = (2x + 1) and W = (3x — 3)
a) Determine an expression for the area in terms of x.
Q = ‘/Q‘V%—\
A= (2% +\\£§3§
3x-3 Q = (_Z_xY_ LY # (-2_7'\1‘33 * (\X?)KX ¥ (.\X"%B
2
AX +1 Bz Lx *li‘/—‘“éx =9
A

T % : - B¢ = S
b) Find the area when x = 10 metres.

Q= bat = g =~
= b - 3L -3
2 (L Loy = 30 -3

= oo = 3 — 3

= 5 b “—j" 28 e



